


Practice1 Multiplication by 10, 100 and 1000
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Multiply.

(o) 813x10= (b)
(c) 2056x10= (d)
(e) 19400x10= (f)
(g) 72678x10= (h)
Multiply by 1000.

(@) 3x1000= (b)
(c) 14 x1000= (d)
(e) 246 x1000 = (f)
(g) 6122 x 1000 = (h)
Fillin the blanks.

(@) —— . x 1000 = 71 000 (b)
(€) ———— x10=482560 (d)
e) — x100=10000 (f)
(g9 — ~1000=9046000 (h)

813 x 100 =
2056 x 100 =
19400 x100 =

72678 x100 -

8 x 1000 =
97 x 1000 =
550 x 1000 =

7005 x 1000 =

5038 x = 503 800

68 528 x = 6852800
138 x =138 000

123 987 x =1239870

Chapter 3: Whole Numbers (3)
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